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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Define management accounting. How does it differ from

financial and cost Accounting ? Discuss the limitations

of Management Accounting.

       





2. What is Ratio ? Describe with examples various ratios

used in the analysis of financial statements.




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3. From the following Balance sheets of X Ltd. Prepare

the Cash Flow Statement :

Particulars 31.03.2021 31.03.2022

Equity and Liabilitie s :

Share capital 3,00,000 4,00,000

Profit & Loss Account 20,000 50,000

Sundry creditors 80,000 50,000

4,00,000 5,00,000

Assets :

Land and Building 1,00,000 1,40,000

Stock 1,00,000 1,30,000

Debtors 1,50,000 1,40,000

Cash 50,000 90,000

4,00,000 5,00,000

Additional information :

(i) There was no drawings.

(ii) There was no purchase and sale of either building

or other fixed assets.
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        



 31.03.2021 31.03.2022

  :

 3,00,000 4,00,000

 20,000 50,000

 80,000 50,000

4,00,000 5,00,000

 :

 1,00,000 1,40,000

 1,00,000 1,30,000

 1,50,000 1,40,000

 50,000 90,000

4,00,000 5,00,000

 :

(i) 

(ii) 


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4. From the following find out :

(i) P/V Ratio

(ii) B.E.P.

(iii) Profit for the sale of `10,00,000.

(iv) Margin of safety from the sale of `12,00,000.

(v) Required sales to earn a profit of ` 2,00,000.

`

Sales 8,00,000

Variable cost 6,00,000

Contribution 2,00,000

Fixed cost 60,000

Net Profit 1,40,000



(i) 

(ii)  

(iii)  ` 10,00,000 

(iv) ` 12,00,000 
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(v) ` 2,00,000       



`

 8,00,000

 6,00,000

 2,00,000

 60,000

 1,40,000

5. What do you mean by Capital Gearing ? Explain the

impact of capital gearing on the financial position of a

company during boom and depression period.

           

          



Section–B

–

Sh ort Answ er Type Questions

  4×8=32
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Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 

1. Scope of Management Accounting.



2. Vertical Analysis.

 

3. Schedule of changes in working capital.

 

4. Applications of marginal costing in managerial decisions.



5. Cash Budget.

 

6. Advantages of responsibility accounting.


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7. Distinction between controllable and uncontrollable

variances.

 

8. Operating leverage.

 

**************


